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Branch :combine bump

* Events
e 1-100GeV moun track
*n=0,—m<phi<m



volume id/ layer id/ module id

sqrt(g_x_hit*"2+g_y hit*2):g_z hit:volume_id

2000 - 36 |
1600/ =34
1400 —
- —32
1200 —
1000 —
_ —130
800 —
400
200— 26
= | ; |

| [ : T ; ; ; ; T 5 et | 1 |
-04 -0.2 0 0.2 0.4 0.6
g_z hit

e volume_id:
e TPC_Barrel:34 TPC_sGap:33
e VTX:25



layer id/ module |

sart(g_x_hit"2+g_y_hit"2):g_z_hit:layer_id sqri(g_x_hitA2+g_y_hitA2):g_z_hit:module_id

2000 2000 )

B E _— 200
18001~ 1800 . . ¢

- Eo ; . — 180
1600~ 1600 S

- -° - —160¢
1400/ 1400/

c - — 140
oE 1200 120¢
1000 1000 100

800/ —35 800~ — 800C

600— 600 6001

400 400[— 400

200 . 200f— 200
E L b sy | E

g#thit'



Hit information

e TPC Residual

res_y_hit {volume_id==34}

‘ res_x_hit {volume_id==34} ‘
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* Two local parameter local_x,local_y

* Definition in code :residual(Acts::ParDef::eLOC_*)
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* Global x,y,z
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e hit_x_t: obs-truth g_x_hit-t_x
* hit_x:obs-fit g x_hit-t_smt




Hit information: VTX
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Track information

Entries

Plot from performance_track_fitter.root

Residual of dO

Residual of z0
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